

Nameless Catering P.O. Box 311 Lebanon, IN 46052 Phone: 317-344-8449

Proposal of Service

Prepared For: Bells Example **Event Date:** 12/9/2023 - Saturday

Address: Phone:

Event Title: Bells and Whistles Example

Proposal #:69015183Guest Count:150Service Style:BuffetOccasion:Wedding

Service Style: Buffet Occasion: Workslesperson: Alissa Kosche

alissa@namelesspizza.com

Venue: Tinker House Events Last Change: 9/8/2023

1101 E 16th St

Indianapolis, IN 46202

Fresh from the bakery cookies and brownies,

Appropriate plates, forks, napkins, salad bowls, spoons, serving utensils, and chafing racks.

Pier and Prairie

Pier & Prairie

Choose up to 3 protein options:

- -Roasted Salmon w/ red pepper sauce
- -Creamy Alfredo Shrimp with Penne
- -Sliced Beef Tenderloin served w/ a red wine mushroom sauce
- -Rosemary Chicken Breast served w/ roasted red pepper coulis
- -Braised Short Rib served with a red wine demi glaze
- -Slow Cooked Spaghetti Squash (Vegan and GF) Topped with our homemade marinara, parmesan cheese and fresh basil.

This menu includes:

-Farmhouse Salad

Printed Date: 9/8/2023 Page 1 of 4

- -Buttermilk ranch and pesto caesar dressing
- -Steamed Vegetables
- -Truffle Baked Mac n Cheese
- -Sliced Sourdough Bread
- -Whipped herb butter
- -Cookies
- -Brownies

Creamy Alfredo Shrimp with Penne

Homemade alfredo blended perfectly with shrimp and penne noodles.

Beef Tenderloin

Braised Short Rib

Steamed Vegetables

Truffle Baked Mac n Cheese

Farmhouse Salad

Sourdough Bread

Chocolate Chip Cookies

Fresh from the bakery chocolate chip cookies

Brownies

Price per portion if added a la carte: \$1.25

Price if added with menu: \$0.00

Appetizers

Fresh BBQ Meatballs

Current number of pans serves about 120 guests

80 meatballs per pan.

With a choice of BBQ or marinara sauce

Toasted Ravioli

Current number of pans serves about 100 guests

80 raviolis per pan. Served with warm

marinara sauce

Charcuterie Tray

Current number of trays serves about 80 guests

Mix of the Following: (20) servings per tray

(3) Basic Cheeses: Soft, Medium, and Sharp

Assortment of (3) Meats

Assortment of Veggies, Fruit, and Spreads

Food

Qty	Description	Unit Price	Total
150	Pier & Prairie	\$36.00	\$5,400.00
50	Creamy Alfredo Shrimp with Penne	\$0.00	\$0.00
50	Beef Tenderloin	\$0.00	\$0.00
50	Braised Short Rib	\$0.00	\$0.00
75	Steamed Vegetables	\$0.00	\$0.00
75	Truffle Baked Mac n Cheese	\$0.00	\$0.00

Printed Date: 9/8/2023 Event #: 69015183 Page 2 of 4

150	Farmhouse Salad	\$0.00		\$0.00
150	Sourdough Bread	\$0.00		\$0.00
75	Chocolate Chip Cookies	\$0.00		\$0.00
75	Brownies	\$0.00		\$0.00
6	Fresh BBQ Meatballs	\$75.00		\$450.00
	Note: Current number of pans serves about 120 guests			
5	Toasted Ravioli	\$70.00		\$350.00
	Note: Current number of pans serves about 100 guests			
4	Charcuterie Tray	\$200.00		\$800.00
	Note: Current number of trays serves about 80 guests		_	
		Food Subtota	 1	\$7,000.00
Bevera	ge			
Qty	Description	Unit Price		Total
1	Tea/Water/Lemonade	\$0.00	Gallons	\$0.00
	Included in meal package			
1	Coffee Service	\$295.00	Each	\$295.00
	Includes paper cups, lids, stirrers, creamers and sugars		<u> </u>	
		Beverage Subtota	1	\$295.00
	laneous			
Qty	Description	Unit Price		Total
1	Delivery and Setup	\$150.00		\$150.00
	This is the fee for your delivery and setup of your meal			44.70.00
3	Drink Dispenser	\$50.00		\$150.00
1	Stainless Steel Chafers	\$175.00		\$175.00
150	Upgraded Plasticware	\$4.00		\$600.00
150	Cake Cutting	\$2.50		\$375.00
	Includes cake plates, forks and cocktail napkins.		=	
		Miscellaneous Subtota	1	\$1,450.00
Staffin				
	, replenishment, and breakdown of buffet Service			
-Cake	ě			
	he plasticware			
	ve Trash Description	Unit Price		Total
Qty 1	Description Staffer	\$50.00	6 hrs	\$300.00
1	Staffer	\$50.00	5 hrs	\$250.00
1	Staffer with Cake Cutting	\$50.00	5 hrs	\$250.00
1	Starrer with Care Cutting		=	
		Staffing Subtota	1	\$800.00
		Charges	s:	\$9,545.00
		15% Production Fee	e:	\$1,050.00

Printed Date: 9/8/2023 Event #: 69015183 Page 3 of 4

 Subtotal:
 \$10,595.00

 7% Sales Tax:
 \$685.65

 2% F&B Tax Tax:
 \$195.90

 Post-Tax Subtotal:
 \$11,476.55

 Payments:
 \$0.00

 Balance Due:
 \$11,476.55

Thank you again for choosing Nameless Catering. Please note: Changes in your order can be accepted for no charge up to 10 days in advance of the order. Any changes made within 10 days are subject to a fee and can only be made on a case by case basis.

Please note * Staff arrival time is estimated. Please allow a 10 to 15 minute buffer for arrival.

Signer Name:	
Sign Date:	

Printed Date: 9/8/2023 Event #: 69015183 Page 4 of 4